
Transistor Feedback 

 





• If Vin = 1 V  what is Vout? 

 

A) 0V 

B)  1V 

C) -1V  

D)  15V 

E)  -15V 
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If Vin = 1V, what is Vout?  

 

A. 0V 

B. 0.1V 

C. -0.1V 

D. 10V 

E. -10V 
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What is Vout/Vin? 

 

A. 0 

B. 1 

C. -1 

D. 105 ~ ∞ 
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• What is voltage at non-inverting input VB? 

 

A) VB = V2  R/Rf 

 

B) VB = V2  Rf /R 

 

C) VB = V2  R/(Rf + R) 

 

D) VB = V2  Rf/(Rf + R) 
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• What is voltage at inverting input VA? 
A) VA = (V1 - Vout ) R/(Rf + R) 

 

B) VA = (V1 ) Rf/(Rf + R) + Vout  

 

C) VA = (V1 - Vout ) Rf/(Rf + R) + Vout  

 

D) VA = (V1 - Vout ) Rf/(Rf + R) 

 

E) 0 
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